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I PART A: ‘Fcauary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
each sentence. Then mark the correct choice on your answer sheet. I

10-

11-
12-

13-
14-
15-

What was intended as a peaceful demonstration rapidly ------—--into violence.

1) agitated 2} degenerated 3) preceded o 4) discriminated
The Democratic Party -—-—--— 70 percent of the vote,

1} garnered 2) esteemed 3) obligated 4) assembled
Some animals can -----—- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand

Researchers have discovered that up to one half of all children born of alcoholics are

cenefically -—- to aleoholism.

1) discerned 2) apprehended 3) predisposed 4} impressed
Communication via the Internet gives an important ———-— to international trade.
1) dimension 2) exposure 3) expenditure 4) distribution
Lack of childcare facilities can be a major -——-—- for women wishing to work.

1) dispute 2} routing 3) obstacle 4) contraction
It is a common —--------- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
The -— for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
The degree of punishment should be -—————- to the seriousness of the crime.

1) inclined 2) receptive 3) prominent 43 proportional
Low inflation is the key to economiec growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

PART B: Cloze Test \

Commonwealth of Nations is an internatienal organization composed of independent states,
all of which were part-of the British Empire. It was constituted by the Statute of Westminster,
(11) —=mmmm- the British Dominions were recognized as “autonomous communities’, {12) =====--
the British Crown. Since 1947, when India chose (13) -=--==--=- within the Commonwealth, it
has consisted of an increasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, is confined
(15) —=mmemmeee head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

1) so 2) which 3) so that 4} in which

1) binding together 2) bound together by

3) together having bound 4) having bound together

1) to remain 2) remaining 3) for remaining 4) to be remained
1) by 2) out of 3) within 4) outside

1) for 2) to who is 3) to that of 4) that she is
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‘ Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3) I|

PASSAGE 1:

In a paper published in the October 2009 issue of the journal BioScience, David Flaspohler,
Joseph Fargione and colleagues analyze the impacts on wildlife of the burgeoning conversion of
grasslands to com. They conclude that the ongoing conversion of grasslands to com for ethanol
production is posing a very real threat to the wildlife whose habitat is being transformed. One
potential solution: Use diverse native prairie plants to produce bioenergy instead of a single
agricultural crop like corn.

"There are ways to grow biofuel that are more benign," said Flaspohler, an associate professor
in the School of Forest Resources and Environmental Science at Michigan Tech. "Our advice
would be to think broadly and holistically about the approach you use to solve a problem and to
carefully consider its potential long-term impacts.”

The rapidly growing demand for corn ethanol, fueled by a government mandate to produce 136
billion liters of biofuel by 2022—more than 740 percent more than was produced in 2006—and
federal subsidies to farmers to grow comn, is causing a land-use change on a scale not seen since
virgin prairies were plowed and enormous swaths of the country's forests were first cut down to
grow food crops, the researchers say. :

"Bioenergy is the most land-intensive way to produce energy, so we need to consider the land
use implications of our energy policies," said Fargione, lead scientist for The Nature
Conservancy's North America Region.

The main purpose of the passage i§ to ——-—--- .

1) give a warming

2) predict the future of bioenergy

3) suggest ways as to how to change grasslands to corn

4) prove why ethanol is harmful to wildlife

Which of the following is said to be a safe way to convert grasslands to corn for ethanoal
production?

1) Regulating the demand for biofuel

2) Carrying out the project where there is less wildlife

3) Using numergus prairie plants

4) Encouraging cooperation between researchers and governmental agencies
The word “habitat” in line 4 is closest in meaning 1o -——--—- —.

1) life cycle 2) daily routines 3) feeding habits 4) natural environment
The word “benign™ in line 7 is closest in meaning to ==---e==-,

1) mature 2) efficient 3) imnovative 4) harmless

The word “its” in line 10 refers to ———————-. SN s

1) advice 2} problem 3) impact 4) approach

According to the passage, in 2006 the amount of biofuel was ————-,
1) 136 billion liters more than it is now

2) much'less than it would be in 2022

3) 740 percent less than it would be 16 years from then

4) much more if the government did not intervene
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PASSAGE 2:

Life tables follow the fate of a group of individuals all born in the same year. Of this group, or
cohort, only a certain number of individuals will reach each age, and there is an age above which
no individuals ever survive. Plotting the number of those members of the group that are still alive
at each age results in a survivorship curve for the population (Figure 1). Survivorship curves are
usually displayed on a semilogarithmic rather than an arithmetic scale. There are three general
types of survivorship curves. Species such as humans and large mammals, which have fewer
numbers of offspring but invest much time and energy in caring for their young (K-selected
species), usually have a Type I curve (Figure 1). This relatively flat curve reflects low juvenile
mortality, with most individuals living to old age. A constant probability of dying at any age,
shown by the Type II curve (Figure 1), is evident as a straight line decreasing over time toward
zero. Certain lizards, perching birds, and rodents exhibit this type of survivorship curve. In some
species that produce many offspring but provide little care for them (r-selected species), mortality
is greatest among the youngest individuals. The Type III survivorship curve indicative of this life
history is initially very steep but flattens out as those individuals who reach maturity survive for a
relatively longer time (Figure 1); it is exhibited by animals such as many insects or shellfish.
Many populations have survivorship patterns that are more complex than, or fall in between,
these three idealized curves. For example, passerine birds (perching birds such as finches)
commonly suffer high mortality during the first year of life and a lower, more constant rate of
death in subsequent years.

What is passage mainly about?

1) Survivorship curves 2) Humans versus other creatures

3) Life span among different creatures 4) Different stages of life in living things
The basis for the classification offered in the passage is

1) types of species involved 2)the length of life amnng different species
3) mortality rate in different stages of life 4) the way species look after themselves
An ever-present likelihood of demise is represented by -—-c-—eeeee,

I} a more or less flat curve 2) a straight line moving down to zero

3) a steep line 4) an upward line

All of the following creatures belong to Type 1l curve EXCEPT ————,

1) a type of reptiles 2) a maring.eréature = 3) certain birds 4) rodents

It can be inferred from the passage that creatures that have a low juvenile death rate are
ones that -
1) do not hive long 2) take good care of their young

3) let their offspring fend for themselves 4) have complex survivorship patterns
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PASSAGE 3:

The term “old-growth® describes forests that have developed over a long period of time without
experiencing catastrophic DISTURBANCE. The age at which old-growth develops and the
specific structural attributes that characterize old-growth vary with FOREST type, climate, site
conditions and disturbance regime. For example, an alder forest may attain o
characteristics at 80 vears, while a fir forest might not be considered old-growth until age 200
years or more. While old-growth has been defined simply on the basis of tree age, size or growth
rate, most ecologists use a combination of structural characteristics for distinguishing old-growth
ﬁ-umynmgerfumts{nnta!!ufﬁmghmn}rbcpmsemmagwmﬁ:mst}

» large old trees (for a species and site);

» trees with broken or deformed tops, or with stem and root decay;

= wide variation in tree size and spacing;

» tree foliage well distributed vertically;

* large dead trees (both standing and on the ground) in a range of decay states;
* CANOPY openings from tree-fall gaps;

» patchiness of understorey vegetation,
All of the following are the fixed features of old-growth EXCEPT that they
1) have structural attributes 2) develop over a long period of time

3) have not been subject to natural disasters  4) are a type of forest

The examples included in the passage are intended to ———.

1) modify a position already taken

2) supplement the definition given for old-growth

3) support what has already been stated

4) help us to relate the already-introduced concept toour personal experience
The word “which™ in line 8 refers to

1) forests 2) ecologists
3) characteristics 4} age, size or growth rate
The seven-bullet point atiributes listed in the passage are those which - mae

1) are to be considered in distinguishing old-growth

2) are usually disregarded by ecologists

3) should all exist in order for a forest to be labeled as old-growth
4) can be found in young forests rather than in old-growth
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